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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4} thut best completes each sentence.
Then mark the correct choice on your answer sheet,

1-  The police only belicved me after an cyewitness ——---—--— my aecount of the accident.
1) displaved 2) constituled 3) corroborated 4) suspecied

2-  The plan is to our --------—-- advantage; we will all benefit greatly from it.
1) concurrent 2) mutual 3) devoted 4y involved

3-  Owr organization is committed to pursuing its aims through peaceful -----——-- . We totally
reject violence as a means of political change.
1) means 2) instruments 3) devices 4) eadgets

4-  All parents receive a hoolklet which ---------- the school’s aims and objectives heforce their
children start their first term.
1) clarifies 2) injects 3) conducts 4) notities

3-  [Ing¢reasing the state pension is 4 --—--—--- aim, but 1 don’t think the country can afford it,
1) redundant 2) diverse 3) exible 4) laudablc

6-  The primary aim in sumo wrestling is to knock your -------—-- right out of the ring!
1) protagonist 2) opponent 3] referee 4) beneficiary

7-  The cost of the damage caused by the il ------—-- will be around S200 million.
1) spill 2) guilt 3) demerit 4} extent

8-  Most of us -————-- when we hear that many children spend more time watching TV
than they spend in school. 1t’s a rather scary thought.
I') withdraw 2) retreat 3) recoil 4) regress

9-  Even though he isn’t enrolled right now, Calvin says he will go to college -----——---- ‘
1) creatively 2) delicately 3) sentimentally 4} eventually

1-  You should aveid driving doring the snowstorm hecausc the icy roads are -——---—--—-.
1) superficial 2) lrigid 3) perilous 4) cautious

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

When it comes to visually identifying a work of art, there is no single set of values or
acsthetic raits. A Baroque painting will not necessarily (11) ---——-------—- much with a
contemporary performance piece, but they are both considered art.
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(12} ———----—— th¢ scemingly indefinable nature ol art, there have always cexisted
certain formal guidelines for its aesthetic judgment and analysis. Formalism 15 a concept
in art theory (13) —--—-------- an artwork’s artistic value is determined solely by its form, or
the way (14) ——---—————_ Formalism cvaluates works on a purcly visual level, (13) --——--
medium and compositional elements as opposed to any reference to realism, context, or
content.
11- 1) share 2) be sharing 3) have shared 43 be shared
12- 1) Although 2) Despile 3) Regardless 4) However
13- 1)that 2) thatin it 3) which 4} in which
14- 1) of it made 2) made 3) how 1t is made 4) it is made
15- D)arc considered  2) considers 3) considering 4) and considcr

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the
best choice (1}, (2), (3), or (4). Then mark the correct choice on vour answer sheet.

PASSAGE 1:

In the United States about half of all pipeline accidents are caused by a third party, as, for
instance, a builder damaging a pipe while digging the foundation of a house.
Conscquently. pipeline companics make special cllorts 1o cducale the public about
pipcline salcly and inlorm citics and construction groups aboul the locations ol
underground pipelines in order to reduce third-party damage.

‘The second leading cause of pipeline failure is corrosion, which is an electrochemical
process caused by the contact of metal pipe with wet soil (external corrosion) and with the
fluid in the pipe if the fluid is corrosive or containg water with dissolved oxygen, carbon
dioxide, or hydrogen sulfide (infernal corrosion), Pipeling comipanics take many mcasures
0 prevent corrosion, such as covering underground pipelines with tape and using cathodic
protection against external corrosion and adding special chemicals (corrosion inhibitamnts) to
the fluid to prevent internal corrosion. Hydrazine (N-H,) and sodium sulfite (Nay$0,) are
two chemicals commonly used to control internal corrosion of metal pipes that carry water.
‘The chemicals reduce corrosion by reacting with and hence removing the dissolved oxygen
in walcr,

Finally, detection of leaks is done by computer menitoring of abnormal flow rates and
pressure and by flving aireraft along pipelines for visual inspection. Special "pigs" are also
sent through pipelines to detect possible flaws of the pipeline walls and signs of corrosion.
[lighly corroded pipes are replaced before a leak develops. Often referred to as "smart
pigs,” these carry instrumenis thal detect cracks and corrosion ol pipcline interiors.

16- According to paragraph 1, third party damage to pipelings --=--—----—-,
1) can be minimized by giving people and builders specific information
2) is limited to situations where builders dig the foundation of a house
3) causes more than fitty percent of all pipeline accidents
4) has been of no concern to pipeline companies
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Which of the tollowing can best describe the organization of paragraphs 2 and 37
1) A reason for a happening is described and then data to support it are given.

2) A problem is introduced and then measures to prevent it arc given,

3) A claim is made and then arguments against 1t are discussed.

4) The causes ol a problem are lisied in order ol importance.

The writer defines which of the following in the passage?

1) Cathodic protection 2) Inhibitants

3) Corrosion 4) Electrochemical process
According to paragraph 2, which of the following is true about Hydrazine (N:H;) and
sodium sulfite (Na2S0;)?

1) They arc udded to pipeline How aller pipelines arc covered with tape.

2) They make the dissolved oxygen in the fluid in pipes disappear.

3) They are used to control external problems of metal pipes.

4) They sometimes contain corrosive substances.

It is stated in the passage that special pigs that are sent through pipelines ---—---—-—-,
1) somctimes [ail (0 survive their mission

2) use their instinets o detect leaks in pipelines

3) are transported to pipeline sites by flying aircratt

4) are equipped with certain tools that detect pipeline flaws

PASSAGE 2:

A particularly important coneept s thermodynamic equilibrium, in which there is no
tendency for the state of a system to change spontaneously. For example, the gas in a
cylinder with a movable piston will be at equilibrium if the temperature and pressure
inside are unilorm and if the restraining [oree on the piston is just sullicient 1o keep 1t
[rom moving. The system can then be made o change 10 a new slale only by an
externally imposed change in one of the state functions, such as the temperature by
adding heat or the volume by moving the piston. A sequence of one or moere such steps
connecting different states of the system is called a process. In general. a system is not
in cquilibrium as it adjusts to an abrupt change in its environment. l'or ¢xample, when
a balloon bursts, the compressed gas inside 1s suddenly far [rom cquilibrium, and it
rapidly cxpands until it rcaches a new cquilibrium state. However, the samc [inal stale
could be achicved by placing the same compressed gas in a eylinder with a movable
piston and applving a sequence of many small increments in volume (and
temperature}, with the system being given time to come to equilibrium after each small
increment, Such a process 1% said o be reversible because the syslem g al (or near)
cquilibrium at cach siep along its path, and the dircetion ol chunge could be reversed at
any poinl. This ¢xample illustrates how two dillerent paths can connect the same
initial and final states. The first 1s irreversible (the balloon bursts), and the second is
reversible. The concept of reversible processes is something like motion without
friction in mechanics. [t represents an idealized limiting case that is very useful in
discussing the propertics of real svstems, Many of the results of thermodynamics arc
derived Irom the propertics ol reversible processes.
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What is the writer's main purposc in the passage?

1) T'o introduce a new finding

2) T'o cxplain an important coneept

3) To correet a common miscongeplion

4) To stress the importance ol an inleresting phenomenon

The word "it" in the passage refers to ---—--—---,

1) piston 2) evlinder 3) temperature 43 force

According to the passage, a balloon bursts because the compressed gas inside it -------—- 7
1) tends 1o adjust to an expected change in it environment

2) wanlts o change in a dircetion that can be reversed

3) nceds 10 have a new cquilibrium state

4) expands due 1o unknown reasons

The word "illustrates™ in the passage is closest in meaning to -—-—-—-—- .

l) contrasts 2) demands 3) proves 4) shows

Which of the following statements about reversible processes is NOT mentioned in the
passage?

1) They involve a numbcer of siages.

2) They resemble friction-less motion in mechanics.

3) Their properties have led to many results in thermodynamics.

4) They connect the mitial and final states of a system all at once.

PASSAGE 3:

‘The metallurgy of metal joining is important to the functional capabilities of the joint.
‘The arc weld illustrates all the basic features of a joint. Three 7zones result from the
passage ol a welding are: (1) the weld metal, or [usion zonc, {2) the heat-alltceted zone,
and (3) the unafllceted zone. The weld metal is that portion of the joint that has been
melted during welding. The heat-aftected zone is a region adjacent to the weld metal
that has not been welded but has undergone a change in microstructure or mechanical
properties due to the heat of welding. ‘he unaffected material is that which was not
heated sufficiently to alter its properties,

Weld-metal composition and the conditions under which it [reezes (solidifics)
signilicantly allcetl the ability of the joint o meet service requirements. In arc welding,
the weld metal comprises [iller material plus the base metal that has melted. Alicer the
arc passes, rapid cooling of the weld metal occurs. A one-pass weld has a cast
structure with columnar graing extending from the edge of the molten pool to the
center of the weld. In a multipass weld, this cast structure may be modilied, depending
on the particular mctal that 1s being welded.

The basc metal adjacent o the weld. or the heat-alleeted zone, is subjected 1o a
range of temperature cyeles. and its change in structure is directly related to the peak
temperature at any given point. the time of exposure. and the cooling rates. The types
of base metal are too numerous to discuss here, but they can he grouped in three
classes: (1) materials unallccted by welding heal, (2) materials hardencd by structural
change. (3) maicrials hardened by precipitation processes.
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[t is stated in the passage that the fusion zone created by the passage of a welding arc is
the part of the joint --------—---- s
I') whose mechanical properties change although not welded
2) that turns from a solid form Lo & liquid
3) that is adjacent Lo the weld metal
4) that is not heated sulliciently
It is stated in the passage that a joint’s ability to meet service requirements -—-----——-,
1} is not affected much by the conditions under which weld-metal selidifies
2) depends on only the composition of weld-metal
3) depends greally on iwo lactors
4) cannotl be determined casily
The word "comprises™ in paragraph 2 is elosest in meaning to ——----—--—- .
1) consists of 2) embarks on 3) relates to 4) imposes on
According to the passage, a cast structure in a multipass weld -------—- i
1) may be [lawed
2) 1s always the samc as one in a enc-pass weld
3) may vary according o the type ol metal used
4) has columnar grains extending from the edge of the molten pool to the center of the
weld under any circumstances
The author mentions "materials hardened by precipitation processes” in the last
paragraph --—------ :
1) as a calegory ol base meltal
2) because they are not attected by heat
3) because they experience structural change
4) as a tvpe of metal that does not contract much
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